OpenEpi t-test, chi square, ANOVA
1.) t-test: Perform a t-test using OpenEpi.  Assume equal variance, evaluate the p-value and determine if there was a significant difference between the mean scores of the two groups.  (Null Hypo)
Group 1 (56 students) attended live lectures in the classroom.  Their mean score was 85 points with a standard deviation of 6.4 points.
Group 2 (43 students) viewed the previously-recorded lectures at home.  Their mean score was 88 points (better!) with a standard deviation of 7.2 points.
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Two-Sample Independent f Test

Tnput Data

. . Mean - -

Result £ statistics & pvaluet o #®  Lower Linit Upper Limit

Equal variance -2.19486 97 0.03056 3 571278 0287216

Unequal variance -2.17655 91 0.03210 3 57379 -0.262101
Fstatistics  dftmumerator,denominator) p-value®

Test for equality of variance* 126562 45,52 04109

* povalue (bwo-tailed)
2 Hartley's ftest for eqality of variance

Results from OpenEpi, Version 2, open source calculator—t_testMean





2.) Chi Square: Using OpenEpi, perform a Chi Square test and see if gender is associated with having a car accident.  
Of the Males, 47 had accidents and 23 did not.
Of the Females, 65 had accidents and 8 did not.
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Using these criteria, this chi square can be accepted.
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3.) ANOVA: Using OpenEpi, perform an ANOVA test and determine if the mean scores are statistically different.  
Group 1 (33 students) learned using textbooks.  Their mean score on the gaits quiz was 34 points with a standard deviation of 2.8 points.
Group 2 (35 students) learned by observing live horses.  Their mean score on the gaits quiz was 36 points with a standard deviation of 3.2 points.
Group 3 (30 students) learned by watching 3D animations.  Their mean score on the gaits quiz was 35 points with a standard deviation of 4.7 points.
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